	Problem Definition Heuristics

	Category
	Heuristic Title
	Count
	Notes

	Required functions
	Detail the required functions
	
	 

	Target appearance
	Describe the desired visual attributes
	
	 

	Target size
	Describe the required dimensions 
	
	 

	Target cost
	Determine the required cost
	
	 

	Production constraints
	Describe the requried manufacturing process and its limitations
	
	 

	Target user
	Determine the end user and detail their needs
	
	 

	Target context of use
	Define the characteristics of the setting
	
	Combine?

	Target context of use
	Describe the environmental conditions
	
	

	Implicit constraints
	Examine assumptions
	
	 

	Target outcome
	State the primary need
	
	 

	Target stakeholder
	Describe the primary stakeholder
	
	 












	Problem Exploration Heuristics

	Category
	Heuristic Title
	Count
	Notes

	Required functions
	Include multiple ways to interact
	
	 

	Required functions
	Describe secondary functions
	
	 

	Required functions
	Integrate existing products to address secondary functions
	
	 

	Target appearance
	Describe the brand values
	
	 

	Target size
	Integrate mobility
	
	 

	Production constraints
	Describe the material characteristics
	
	 

	Production constraints
	Incorporate user customization in the manufacturing process
	
	 

	Production constraints
	Describe the required maintenance needs
	
	 

	Target user
	Incorporate additional scenarios
	
	 

	Target user
	Describe a future scenario
	
	 

	Target user
	Focus on one scenario
	
	 

	Target user
	Prioritize use cases
	
	 

	Target context of use
	Expand the setting
	
	 

	Target context of use
	Focus on one setting
	
	 

	Target context of use
	Focus on eco-friendly solutions
	
	 

	Target context of use
	Detail the operational requirements
	
	 

	Target context of use
	Determine the context of operation
	
	 

	Implicit constraints
	Shift focus to cultural issues
	
	 

	Implicit constraints
	Break down the addressed limitation(s)
	
	 

	Implicit constraints
	Find the root cause
	
	 

	Implicit constraints
	Brainstorm ways to elimintate/reduce root cause
	
	counts are combined with above, leave or split?

	Implicit constraints
	Add potential limitations
	
	 

	Target outcome
	Break down the primary need
	
	 

	Target outcome
	Expand the scope
	
	 

	Target outcome
	Focus on education
	
	 

	Target outcome
	Focus on economic growth
	
	 

	Target outcome
	Describe an existing solution to use as conceptual inspiration
	
	 

	Target outcome
	Use/modify existing solutions
	
	split into two heuristics for future data

	Target stakeholder
	Expand the primary stakeholder group
	
	 

	Target stakeholder
	Substitute the individual primary stakeholder for a group
	
	 

	Target stakeholder
	List individuals or groups that are associated with the primary stakeholder
	
	 

	Target stakeholder
	Break down the primary stakeholder group
	
	 

	Target stakeholder
	Substitute the primary stakeholder group for an individual
	
	 

	Target stakeholder
	Describe secondary stakeholders
	
	 



